
Horizontal multiplication

Math in English

Multiply the following numbers

1 8 =× 8 4 =× 2 8 =×

5 8 =× 10 8 =× 8 6 =×

8 2 =× 0 8 =× 8 1 =×

4 8 =× 7 8 =× 9 8 =×

8 0 =× 8 9 =× 8 5 =×

6 8 =× 8 7 =× 3 8 =×

8 3 =× 8 8 =× 8 10 =×
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Horizontal multiplication

Math in English

Multiply the following numbers

1 88 =× 8 324 =× 2 168 =×

5 408 =× 10 808 =× 8 486 =×

8 162 =× 0 08 =× 8 81 =×

4 328 =× 7 568 =× 9 728 =×

8 00 =× 8 729 =× 8 405 =×

6 488 =× 8 567 =× 3 248 =×

8 243 =× 8 648 =× 8 8010 =×


